50 | FIXED KWIKTRAK

Hardware
Part # Description
000.00357 Hex head bolt 3/8-16 X1 in Zinc
1 1000.00381 Hex head bolt 3/8-16 X2 in Zinc / ;
000.00385 Hex head bolt 3/8-16 X2 1/2 in Zinc
2 1000.00398 Plastic Cap 3/8-16 bolt white
3 | 000.00402 Locknut Stover 3/8-16 Zinc
4 1 000.00405 Nut 3/8-16 Zinc
5 1000.00410 Coupling nut 3/8-16 Zinc
6 | 000.00412 Beam C-Clamp 3/8-16 in e e @
7 1 000.00423 Concrete anchor 3/8-16
8 | 000.00424 Saddle Nut (MSA-F 3/8-16)
9 | 000.00426 Strut Nut (MKN-FM 3/8-16)
10 | 000.00427 Concrete anchor 3/8-16
11 1000.00428 Concrete anchor 3/8-16
12 | 000.00490 Strut-Ties (MKN-SV)
i3 000.00500 Hilti strut Beam Clamp 1 5/8
000.00505 Hilti strut Beam Clamp 2 7/16
141 000.00645 Tap Screw ST 4.8 X 19 PHILLIPS e @ Q
15 1 000.00650 E-Z-Anchor (for screw #8 and #10 or for st4.2 & st4.8)
16 | 000.00655 Plastic Anchor #10-12
171 000.00660 Expandable Anchor for gypsum (use with M6 screw)
18 | 000.00695 Lag Bolt 1/4 X 1 1/2 Hex Zinc
19 1 000.00740 Lag Bolt 3/8 X 4 Hex Zinc
20 | 000.00810 Spring pin for joint 1/8 X 1 1/2 in Zinc
000.01230 Hilti Strut 1 5/8 X 10in
“ 000.01238 Hilti Strut 2 7/16 X 10in
22 | 225.01260 White access panel 18 in x 18 in (46 cm x 46 cm)
000.01290 Hilti insta back 1/2 in
- 000.01295 Hilti insta back 5/8 in
o) 000.04430 Flat Washer 10mm ID/20mm OD Zinc
000.04875 Flat Washer 12mm ID/32mm OD Zinc
25 1001.11095 Pressure Nut Foldable
4 ®




